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#include "stdio.h" et 258
#include <math.h> )
void draw_bar(int len)
- | B
for (i=0; i<len; i++) { draw_bar
, PrnTE) BIS I 1 ADOE%
printf("¥n"); ) | EIHE(CERR T DHRE
return;
}
Int main()
INt 1;
Int ch; i
int a[]={6,4,7,1,5,3,2}: + EIDES
for (1=0; 1<75 1++)
}draw_bar(a[l]); } feHMSEAHH LT, BN
ch = getchar() % draw_bar (uf‘h*b‘\_Cb\Zp -
ch = getchar(); FBETEILR, ETUT,

}return 0; E}J'ﬂzj&{i&nu L/T—Fé(/\ ‘3
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FEEIFOE LDF)  draw_bar(ali]);
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#include "stdio.h" Y N -
#include <math.h> . BENDORENZE =S
void draw_Dbar(int len o Ry
{ A ) JO70o
Int 1;
f 1=0; i<len: i Y
i - iR
amwwm JOU S LETE
return; o e AA DR S
} ™ EHBIFUH LOBFRICRS gz
int main() )
Int i;
int ch;
}nt ?[13{6,47’711,5),1{%,2}; o SR
or (i=0; i<7; i++ o i
draw bar(a[i]); 7@@@Dﬂb> = kot
N
ch = getchar();
ch = getchar(); 5 )
return O; BE%% draw bar MU U 5
) o
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#include "stdio.h" it 258
#include <math.h>
void draw_bar(intlen)
{

Int 1;

for (i=0; i<len; i++) {

printf("*");

printf("¥n");
return;

}

Int main()

{inti; Z#8i, ch, a
int ch: ZAETYUTIT 70 (CHER
int a[]={6,4,7,1,5,3,2}; —
for (1=0; i<7; i++) {
draw_bar(a[i]);

ch = getchar(); ~C CTRRE
ch = getchar();

return O; .7
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#include "stdio.h"
#include <math.h>
void draw_bar(intlen)
{
Int 1;
for (I=0; i<len; i++) {
printf("*");

printf("¥n");
return;

}

Int main()

Int i;

int ch;

int a[]={6,4,7,1,5,3,2};

for (1=0; i<7; i++) {
draw_bar(a[i]);

ch = getchar();
ch = getchar();
return O;
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#include "stdio.h" it 258
#include <math.h>
:[/oid draw_bar(int len) Z5 e i
int i; MAEUTUR(CHEERIND
for (i=0; i<len; i++) { =
printf("*");
orintf("¥n"): ~ _ _ CiEH
return; B
}
Int main()
{inti; Z%Xi, ch, a
int ch; MAEBUITY ZR(CHEE=ND
int a[]={6,4,7,1,5,3,2}; —

for (i=0; i<7; i++) {
draw_bar(ali]);

ch = getchar(); >~ TR
ch = getchar();

return O;
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#include "stdio.h"

#include <math.h> CDEFRTIE S
id d bar(int | ™
}./.m | raw_bar(intlen) e 'ﬂE 947
inti;
for (1=0; i<len; i++) { len 6 7 |Int
}printf("*"); E
printf("¥n"); i 67 |Int
return; =z
}
int main() len (&, 6,4,7,1,5, 3,2 Dfgz=zED,
{imi_ | DB len & LY
intéh;

int a[]={6,4,7,1,5,3,2};
for (i=0; i<7; i++) {
draw_bar(a[i]);

ch = getchar();
ch = getchar();
return O;
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#include "stdio.h"
#include <math.h>
int main()

{

double teihen;

Palebuse Lok

double takasa;
double menseki;

int ch;
teihen = 3; f&J (ED(:E U 7 I\ I/X
takasa = 4; O)Hy,’fg':

menseki = teihen * takasa * 0.5;

printf("menseki = %f¥n",menseki); r%pj (i)( - U )’ |\ I/Z
printf("address(teihen) = %p¥n", &teihen ); GD%ZI_T

printf("address(takasa) = %p¥n", &takasa );

printf("address(menseki) = %p¥n", &menseki );

ch = getchar();

ch = getchar();

return O;
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printf("address(teihen) = %p¥n", &teihen );
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#include "stdio.h"
#include <math.h>
int main()
{
double u[]={1.9, 2.8, 3.7};
double v[]={4.6, 5.5, 6.4},
int i
double ip;
int ch;
ip =0;
for (i=0; i<3; i++) {
ip = ip + u[i*v[i];
}
printf("PIf&E=%f¥n", ip);

printf("address(u[0]) = %p¥n"
printf("address(u[1]) = %p¥n"
printf("address(u[2]) = %p¥n"
printf("address(v[0]) = %p¥n"
printf("address(v[1]) = %p¥n"
printf("address(v[2]) = %p¥n"

ch = getchar();
ch = getchar();
return O;

Z2ETEILR,
ETUTF=0

[{1.9, 2.8, 3.7}] DLSICEB\T,
u[0], u[1], u[2] (CfEZTwv ~

, &u[0]);
, &U[1]);
, &U[2]);
, &v[0]);
, &V[1]);
, &V[2]);
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#include "stdio.h"
void dump_line( unsigned char *top_address )

{

unsigned char *p;

Il T%pl (FRA > FDFRR

printf( "%p :", top_address);

II AR, 16 TDORRZ16/\A h31TD

for ( p = top_address; p < (top_address + 16); p++ ) {
Il T9%2x] (3161 EZ2HTTDERIR
printf( " %2x", *p );

}
I XEVUDFEN, 16T 20 U L 7e LT EZE(T,
printf("[");

for (p = top_address; p < (top_address + 16); p++) {
Il T%c] (IXZF (1XF) TOHRR
if (((*p) >=0x20) && ((*p) < 0x7e)) {
printf( "%c", *p );

}
else {
printf(".");
}
}
printf( "¥n");

[XF] ETERR

Palebuse Lok
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void dump( unsigned char *address, int len)

{ Pratibuse Lok
unsigned char *current;
printf( "16 #HZX T AT DHEEFRR¥N");
printf( " : 0001020304 050607 0809 0a0b 0c 0d Oe 0f|0123456789abcdef¥n™);
printf( "--------- e |-------==- - ¥n");
current = (unsigned char*) ( ( ( (int) address )/ 16 ) * 16 );
while ( current < (address + len) ) {
dump_line( current);
current = current + 16;

}
return;
}
int main()
{
char s[] ="89771843";
int ch;
dump( (unsigned char*)s, 16 );
printf("Enter F¥—%1,20f 9 &, TOTSLMMETUEITHM");
ch = getchar();
ch = getchar();
return O;
}
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